
Name: Date:
Class:Teacher:

Multiplication/Division 618
They are able because they think they are able. - Virgil 
(70-19 B.C.)

A calculator might help!
The DIVISION questions have NO remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

1,185 8,647 3,035 1,497 4,934

10 62 68 41 19

1,016 4,357 2,073 7,878 3,204

93 25 72 40 78

1,945 4,253 5,960 8,867 7,402

35 70 56 82 24

6,692 9,348 8,194 9,480 2,138

53 50 77 63 57

50 88 35 15 39

8,220 2,480 2,720 8,323 7,353

19 94 26 46 22

1,116 6,800 8,280 3,440 6,240

59 38 47 55 67

7,210 9,730 5,320 6,970 4,152

12 36 78 95 80

4,770 3,050 8,701 1,764 2,508

× × × × ×

× × × × ×

× × × × ×

× × × × ×

© Facilitators Ferriswheel Score:



Answer Key Date:
Class:Teacher:

Multiplication/Division 618
They are able because they think they are able. - Virgil 
(70-19 B.C.)

A calculator might help!
The DIVISION questions have NO remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

1,185 8,647 3,035 1,497 4,934

10 62 68 41 19

1,016 4,357 2,073 7,878 3,204

93 25 72 40 78

1,945 4,253 5,960 8,867 7,402

35 70 56 82 24

6,692 9,348 8,194 9,480 2,138

53 50 77 63 57

50 88 35 15 39

8,220 2,480 2,720 8,323 7,353

19 94 26 46 22

1,116 6,800 8,280 3,440 6,240

59 38 47 55 67

7,210 9,730 5,320 6,970 4,152

12 36 78 95 80

4,770 3,050 8,701 1,764 2,508

× × × × ×

× × × × ×

× × × × ×

× × × × ×

59,250 760,936 106,225 22,455 192,426
822 40 40 203 387

19,304 409,558 53,898 362,388 70,488
12 272 115 86 80

114,755 161,614 280,120 487,685 495,934
206 139 95 85 173

80,304 336,528 639,132 900,600 171,040
90 61 113 28 44

© Facilitators Ferriswheel Score:


